THRNOEXMEE (ZERWE XNHE)

R T x,y, 22RO K,
(2)

W Ut =
Tt O N
N O W W
W U = =
= w O N
N W DN W
N O W W
_— W O N
S nw e 8
N O W W

2
0
3
1
X

RHIT 2y, 2w 2 KD

o

Q5 %526“%:%&&%2, Qg5 %)ﬂulfﬁ@%“@fio
(1)

ail; a2 T
a1 az y|=0

azr a3z <=

EBH X9 % (2,y,2) #(0,0,0) % 2 fHRkD X,
(2)

aip a2 T
a1 az y|=0
az;r az2 =2

DX (v,y,2) ZTRNTKRD X,
(3)

a;il a2 a13
a1 az a2 Y| _ 0
az1 asz2 asz =z
aq1 Q42 Q43 W
o

B X9 (,y, z,w) # (0,0,0,0) Z 3 KD
(4)
ail a2 ais
as agy a3
a3z1 az2 ass

f v € 8

a4l Q42 43
D LI (v,y, z,w) ZTRNTRD K,



